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This question paper has 2 parts. Part A is compulsory for all examinees.
Part B is meant only for those examinees who have not offered computerised
accounts (applicable for students of regular colleges). Students of SOL have

/
. to attempt Part A and Part B Part A and Part B are to be answered on
separate answer-books,
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Note :— The maximum marks printed on the question paper are applicable for
the candidates registered with the School of Open Learning for the
B.A.(Hons.)/B Com (HOI:IS.). These marks will, however, be scaled down
proportionately in respect of the students of regular colleges, at the time

of posting of awards for compilation of result.
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Part A
(W ‘)
1 State with reasons whether the following statements are True or False . 5
\(i) A business entity can keep 1ts accounts on accrual basis of accounting.
() Legal Fees paid to acqul;'e a property is capital expenditure.

(i) Higher déepreciation will not affect cash profit of the business.

(iv) Receipts and Payments Account highlights total income and

expenditure

(v)  Deferred revenue expenditure is current year’s revenue expenditure to

be paid in later years
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2. (@) Define depreciation. What are'the contributory factors for decline in

the value of fixed assets ? ‘ 4

()  Mayur Traders, which depreciates its machinery at 10% p.a. according
to Diminishing balance method, had on 1-1-2009 Rs. 4,86,000 balance
1in Machinery Account Part of the machinery purchased on 1-1-2007
for Rs. 60,000 was sold for Rs. 40,000 on 1st July, 2009 and a new
machinery at a cost of Rs 70,000 was purchased and installed on the

same date, installation charges being Rs. 5,000,

Mayur Traders wanted to change its method of depreciation on
1-1-2009 from Diminishing balance method to Straight line method
with effect from 1-1-2007 The rate of depreciation remains the same

as beforeli

Show Machinery Account for the year 2009. Also show your working

clearly.t 10
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(@) o9 WY & FEEE U9 YUl & ATER 10% aifte W Joagiad
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g 1 1-1-2007 H 60,000 T H S T AL K TH W 1 IO,
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The following are the details of material of Sa1 Mills
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1-1-2009 Opening Stock 100 units @ Rs 25 per unit
1-1-2009  Purchases 200 units @ Rs. 30 per unit
15-1-2009 Issued for consumption 100 units
1-2-2009  Purchases 400 units @ Rs. 40 per unit
15-2-2009 Issued for consumption 200 units
20-2-2009 Issued for consumption 200 units
1-3-2009  Purchases y 300 units @ Rs. 50 per umit
15-3-2009 Issued for consumption 200 units
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Find out the cost of closing stock as on 31-3-2009 according to -

(1) First in first out basis, and

(1) Weighted average price basis,

using perpetual inventory system Also calculate cost of closing inventory on

LIFO basis under periodic system

14
o oy #1 it =1 foaw fretafaa § .
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1-2-2009 1“91133 | 400 P @ 40 %. T TR
15-2-2009 399 & faw fwifga 200 geTEal

20-2-2009 39 & Tw frifi 200 ShrEAl

1-3-2009 ©lRR ’ 300 T1EA @ 50 . WA T
15-3-2009 U wfag frifag 200 seTEAl
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3 A trader keeps his books of account under Single entry system. On 31st March,

2009, his Statement of Affairs stood as follows -

Liabilities Rs Assets . Rs.
Capital 2,50000 | Furmiture (Cost Rs 1,50,000) | 1,00,000
Trade Creditors 5,80,000 | Stock 6,10,000
Bills Payable 1,25,000 | Trade Debtors 1,48,000
QOutstanding Expenses 45,000 | Bills Recervable ' 60,000
_ | Unexpired Insurance 2,000
Cash and Bank l 80,000
10,00,000 | . 10,00,000

‘ The following was the summary of Cash Book for the year ended 31st

March, 2010 :
Receipts Rs Payment&;, Rs.
To Balance b/d 80,000 | By Trade Ereditors 75,07,000
To Cash Sales ~ | 73,80,000 | By Bills Paable met 8,15,000
To Receipts from Trade By Sundryjxpenses 6,20,700
Debtors 15,10,000 | By Drawing 2,40,000
To Receipts from Bills By Balanced 1,27,300
Receivables 3,40,000
93,10,000 | 93,10,000
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Discount allowed to trade debtors and received from trade creditors amounted
to Rs 36,000 and Rs 28,000 respectively. Bills endorsed amounted to
Rs. 15,000 Annual Fire Insurance premium of Rs 6,000 was paid every

year on 1lst August for renewal of the policy. Furniture was subject to

depreciation @ 15% per annum on reducing balance

You are also informed about the following balances as on 31st March, °

2010 -

Stock

Trade Debtors
Bills Receivables
Bills Payable

Outstanding Expenses

Rs
6,50,000
1,62,000

75,000
1,40,000

5,000

The trader maintains a gross profit ratio of 10% on sales

Prepare Trading and Profit & Loss Account for the year ended 31st March,
2010 and Balance Sheet as on that date

T# S9N el Ul usfa SR o wEdem W@ ¥ 1 31 W, 2009

# sEw fefa-faam @ W o

’
* \

14

et | % (oftwutar %.
. Nt 2,50,000 |F=R (AW 1,50,000 %.) | 1,00,000
IR § AR_R 5,80,000 | ‘ 6,10,000
27 fadl 1,25,000 |&MOR # S_R 1,48,000
aEd @9 45,000 |9 forat 60,000
I St 2,000
{Fg IR T= 80,000
10,00,000 | 10,00,000
" P.T.O.
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31 Ard, 2010 ® §OW ¥ F fay IwT 9@ =1 uRiw Frefafew @

i % ®.
I b/d 80,000 |=IR § oERi W 75,07,000
The fasmt 73,80,000 |27 fadll 1 Yaw 8,15,000
FNR H SRR | fafay =4 6,20,700
W 15,10,000 2,40,000
T faeli 9 wia 3,40,000 1,27,300
93,10,000 93,10,000
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3t 28,000 & @ | TifRa fa W TR 15,000 T A 1 6,000 T
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.
6,50,000
1,52,000

75,000
1,40,000

5,000
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Or

(1)

(@) What 1s a contingent lability ? Give three examples of contingent

Liabilities. ) 4

(b)  Given below is the Trial Balance of Mr. Ramesh as on 31st December,

2009 :
* Rs Rs.
. Land and Building 1,20,000
Office Machinery 70,000
Furniture and Fittings 20,000
Stock on 1-1-2009 16,000
Purchases and Sales 90,000  2,20,000
Salariesi’ -20,000
Bad Debts 10,000
Debtors and Creditors 35,000 40,000
Sales Tax 10,000
Rent, Rates and laxes 15,000
Advertisement 18,000
Drawings 5,000
Loan to Ashok ?.dﬁ% p.a. on 1-7-2009 20,000
Wages, 33,000
Interest on Loan! Ashok —_ 1,000
P.T.O.
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Bills Receivables 10,000
Trade Mark 8,000
Discount 1,000
Wages Payable : —_ 2,006
Capital —_ 1,98,000
Bank Overdraft — 40,000

5,01,000 5,01,000

Additronal Information -

(2)

(z£)

(z2r)

(w)

(v)

(vr)

(vu)

The value of stock on 31-12-2009, Rs. 30,000.

Sales include Rs. 5,000 for the goods sold on approval to Hemant.
Goods are sold at a profit of 25% on cost. Approval was not

received till 31st December.

Furniture purchased during the year for Rs. 5,000 was wrongly
debited to Purchases Book.

A cheque of Rs. 8,000 received from customers was deposited 1n
the bank 1 the last week of December It was reported to have

been dishonoured.

Free samples worth Rs 4,000 were distributed during the

year.

Write off further bad dzbts Rs. 2,00. Also .create a provision for
doubtful -debts at 10% on debtou

Depreciate furniture by 10% ar;ofﬁce machinery by 5%

Prepare Trading and Profit & Loss Abunt for the year ended 31st

December, 2009 and a Balance Sheetls on that date 10
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(@) 9= W & 31 KGE, 2009 F W whyw fem o ¥ .

B, £9
iy 3R A \ 1,20,000
e TR \ 70,000
wHteR 3R (e \ 20,000
wWiF 1-1-2009 H 16,000
wg 3R fawa 90,000  2,20,000
E ol | |\ 20,000
1 | 10,000
TRR AR TAW|R 35,000 40,000
famta 10,000
forua, TR AR HT 15,000
fasaA \ 18,000
3T : ) 5,000
) 1-7.2009 1 16% JMHF F TW 373 HY 7w 20,000
LEX : 33,000
e & T R/ W *oaﬁl' — 1,000
q o 10,000
=R a8 8,000
P.T.O.
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o 1,000
g rm@ _ 2,000
& —  1,98,000
5 m K — 40,0@0
' . ' 5,01,000  5,01,000
- faRem g ,/
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X Co Ltd. purchased on 1-1-2008 from M/s RV Traders four machines

having cash i)rice Rs. 80,000 each on hire purchase basis. The payment was
to be made as follows :

10% of cash price down, and
25% of cash price at the end of each of the following four years

X Co Ltd paid the first instalment but failed to pay the second instalment
due on 31-12-2009 M/s RV Traders repossessed three machines leaving
remaining one machine with the buyer The value of three machines
was taken at cost less depreciation @ 20% p a on reducing balance

method. M/s X Co. Ltd. changes depreciation at 10% p.a on reducing balance
method on 31st December of each year.

M/s RV Traders spent Rs 42,000 on overhauling of the machines repossessed
and sold two of the repossessed machines for Rs. 1,20,000.

Prepare necessary Ledger Accounts in the books of both the parties 14

X Co. Ltd 7 1-1-2008 # AWy am. = é‘gﬁ‘@ YiSl-%Y YR W IR
e lEl, TE & TR HIEd 80,000 § o | WM W WaR fEa
S Ao

FHE HITd ® 10% F G PEA, a4

Y% i AHG hUTR A AR T H Iq H 25% |

X Co Ltd. ¥ W&l & a1 &t &t fabg 31-12-2009 #1 I3 god fhea smn
a6 g | T IR | U N Al & UM UF WA Dige Sl 99w
@mmﬁa}m | T i W e s 9 et

A W 20% Houe e fuif@ fEem e 1 X Co Ltd. welw @ 31
m@afaaﬁmn?—ﬁmm%mﬁmﬁawwm%l

fgd o o 3N A9E we W ol T uyiA Wl eiatelfdn W
42,000 % @ IH A Q B 1,20,000 T H 9w |

o well @ W) Sife e o Tar wifem |

P.T.O.
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Or

(g

From the following Income and Expenditure Account of Mayur Club for
the year ended 31st December, 2009, prepare Receipts and Payments
Account for the year ended 31st December, 2009 and a Balance Sheet as

on that date .
. Income and Expenditure Account
(for the year ended‘31-12-2009)
Expenditure Rs. | Income Rs.
To Salaries 48,000 | By Subscriptions 1,56,000
To Stationery 3,200 [ By Donations 16,000

To Postage & Telephone 6,400 | By Bilhard Room Collections 14,000

To Rates and Taxes 12,000 | By Entrance Fees 24,000
To Repairs 16,000 | By Interest from Investments 5,400
To Table Tennis Balis 2,400

To Printing of Magazines 4,000
To Electricity Charges 12,000 {
To Billiard Room Expenses 6,000
To Upkeep of Ground 18,800
To Depreciation on Assets 4,000
To Excess of Income over

Expenditure 82,600 t

———

2,15,400 [ 2,15,400
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Additional Information -

As on 1-1-2009 31-12-2009
(Rs) (Rs)
Fixed Assets l \ 96,000 64,000
Investments 54,600 94,000
Cash at Bank 3,600 ?
Subscriptions Qutstanding . 6,000 10,600
Subscriptions received 1 advance 12,600 20,000
Expenses Outstanding
Stationery 1,200 800
Telephone 600 400
Electricity 1,460 600
14

31 oW, 2009 F warg o B fow wR T B Frefofer sT-wE o
¥ 31 fEEeR, 2009 H wora o & A wiw siR e o ok sH ad
F -9 TR HifEw

AT-9 oEn
(31-12-2009 % TANG a¥ & fow)
ag % |amg %
I W 48,000 | =<1 & 1,56,000
RIS W 3,200 {TH ¥ 16,000
T AR EH W 6,400 | feferard &1 aget @ 14,000

PTO.
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I 3P T 12,000 | 93T Yook & 24,000
TG W 16,000 | FE9l W == § 5,400
aet g A 9t 2,400
YfhT ! BIE T 4,000
st g9 W 12,000
faead w9 'd W 6,000
EH % W-EE W 18,800 |
giuftE W AeagE ™ 4,000
o T A F YR W 82,600
2,15,400 | 2,15,400
Afaftas gar ¢ -
. 1-1-2009 & 31-12-2009 I
(%) (%)
T qftgafaat 96,000 64,000
fram 54,000 94,000
5% H Twg 3,600 -?
A 9 6,000 10,000
YT WG =] 12,000 20,000
W T
QYA 1,200 800
AT 600 400
farrelt 1,400 600
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5. X Co. Ltd , Mumbai invoices goods to its Dell Branch at cost plus 25%. All
expenses of the branch are met by Head Office and cash collected by the
branch is sent to Head Office. From the following informations, prepare Branch

Account and Goods sent to Branch A/c in the books of Head Office .

Rs.
Branch Stock at invoice price on 1-1-09 20,000
. Branch Debtors on 1-1-09 25,000
Branch Furniture on 1-1-09 40,000
i Petty Cash on 1-1-09 3,000
Salary due for December, 2008 \ 4,000
Goods sent to branch during the year (including
goods 1n transit) 2,00,000
Goods returned by Branch to Head Office 5,000
Goods returned by customers to‘ Branch 4,000
Loss of goods 1n tran;it at 1 P. (not insured) 10,000
Cash Sales 70,000
{ Cash received from customers 90,000
Goods spoiled at 1P (normel) ' 4,000
B;ad Debts ; 1,000
Discount allowed 2,000
Petty expenses incurred b Branch 2,000
P.T.O.
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Cheque received from Head Office for :

Salaries @ Rs. 4,000 p.m.
Rent
Petty Cash
Delive-ry Van
Branch Debtors on 31-12-09

Branch Stock on 31-12-09

Depreciate furniture and delivery van @ 10%.

48,000
10,000

3,000

50,000

1,11,000
30,000

?

14

X Co. Ltd., §93 319 faoeht W@ 9 av 991 25% W Ui e WAt
T W F e gue SR g1 9 fRr s ¥ ot wren # g
TS qur? Fraied W 96 ¥ | Fefefes gmn @ yue seias 5 g
Hd yr dE 3R T W NN T U W oE FaR s

1-1-09 = s W T ©iF
1-1-09 ) I R

1-1-09 ) W@l Hter

1-1-09 & YU IFe

fe@r, 2008 & fau <@ 3@

g8 & SH e B WS T W (
W@ g 9UE F1aierd & 9™ w1l

- WE H UES g 999 &AW T AR
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20,000
25,000
40,000
3,000
4,000
2,00,000
5,000

4,000
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do Fwd ) A # we & e (Sretugd) 10,000
EETRCED | 70,000
TeH & Wa I6g 90,000
Aed HAd | @ J T HE (W) 4,000
e A 1,000
fean ™ W 2,000
. W g fHg T ERN we 2,000

yum wrfea ¥ freafafes & o gy =% @ ®

4,000 T. WfaE H W 9 48,000

fopren | 10,000

U VFS 3,000

faam 5 50,000 1,11,000
31-12-09 ! W@l TR 30,000
31-12-09 ! TN TIH ' ?
wtar ol faato oA 10% W goagd |

Or
] (3=

(@) Distinguish betwc‘l Hire purchase system and Instalment system. 4

.
b A Hea&d office inces goods to 1ts branch at 20% less than the list
price. The list p2 is made up by adding 100% to cost price. Goods
are sold to custors at list price both by head office and branch. From

the following F’f‘.‘.ulars, prepare Trading and Profit & Loss Accounts

P.T.O.

Read School examination question paper and thefe solution on howtoexam.com


http://www.howtoexam.com

http://www.howtoexam.com

(20 ) 6002

for the year ended 31st March, 2010 to show profit made by Head Office

and Branch on Wholesale Basis :

Head Office Branch

(Rs) (Rs.)

Opening Stock at Cost (at invoice
price for branch) 60,000 24,000
Purchases 6,00,000 -
Goods sent to Branch at invoice price — 1,44,000
Sales 9,00,000 1,20,000
Expenses 1,30,000 . 6,000
10

(F) w-mmaﬂgﬁmwﬁﬁhﬁaﬁﬁq

(@) TH YUH FHECE S W@ R GEERT ¥ 20% 9 R O st
T AN ¥ | g FE O A A 100% SewR o ot ¥
mummﬁaﬁnwﬁmﬁaﬁ@mmww
¢ | frfafes =R 9 %Wmimmaﬂtmgmaﬁh
o feam & fag 31 @M, 2010 B W @6 # fag smR it ay-afy

a@ ¥R wifeT

VOF HEatem
(%) (%)

W W WRNE =fE (W B A
v ) 60,000 24,000
- 6,00,000 —
@l & Sieie HAd W N T A — 1,44,000
: fra ﬁ\ 9,00,000 1,20,000

EE \ 1,30,000 6,000
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Part B
(vt ‘|

6. A, B and C shared profits and losses in the ratio of 5 : 3 : 2 respectively.

\

On 31st March, 2009 their Balance Sheet was as follows .

. Liabilities Rs [Assets Rs
A’s Cai)ital Alc 6),000 | Furniture 22,000
B’s Capital Alc 4:},000 Stock 96,000
C’s Capital A/c 2!’,000 Cash 2,000
Creditors 6|,000 Profit & Loss A/e 80,000
Bank Loan 2!,000
2,%'0(;0 2,00,000

1 +
The bank had a charge on althe assets. Furniture realised Rs. 6,000 and
stock was sold for Rs. 50,0003’s private estate realised Rs. 12,000 and his
private liabilities, were Rs 1€00. C was unable to contribute anything. A

paid one-third of what was « from him on his own account

Prepare Realisation Accountfash Account and Partners’ Capital Accounts,

passing all matters relating realisation of assets and payment of liabilities

-

through Realisation Accoun 14
P.T.O.
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A B3R CHIM: 5:3:2 % 0@ § wv-gi F wewrdt § 1 31 W

2009 H IR TEA-IH TH FPR A :

dand v. | uftdafmt %.
A %1 3t S 60,000 m——ﬁm 22,000
B am Sl et 40,000 | r 96,000
cHfhdm 20,000 | ¥5 2,000
AR 60,000 | T+ AT 80,000
6 0 20,000

2,00,000 I m

¥ o1 gw ufwefE W § ) lﬁﬁ,OOOﬁ.a’%Eqaﬂtmaﬁ
50,000 T # ¥=1 W | B F Pl T W 12,000 ¥ I gu R g
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3 oft w1 dad wE-fed R |
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(@) Explain the rule of Garner Vs“.[urray. 4
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A, B and C were partners sharing profits and losses in the ratio

of 4 - 3 : 1. Their Balance Sheet as on 31st March, 2009 was as

follows :
Liabilities Rs. Assets Rs.
A’s Capital A/c 1,05,000 | Building 90,000
B’s Capital A/c 45,000 | Machinery 30,000
C’s Capital A/c 75,000 { Stock 82,500
Bank Loan (Secured) 13,500 | Debtors 90,000
Cred‘ltors 39,000
A’s Loan 15,000

‘ 2,92,500 | 2,92,500

They decided o dissolve the business. The assets were realised

gradually and the net amounts were distributed immediately as

follows :

May 30 33,000 Expenses paid 3,000
July 30 ' 25,200 Expenses paid 2,200
Sept 30 57,000 Expenses paid 4,500
Nov. 30 68,000 Expenses paid 8,000
Dec. 31 1,08,000 Expenses paid 10,000

|
L
Show the distiution of cash among partners using maximum possible

loss method. 10
P.T.O.
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TR wAm W @ fam we s
A B3I C4-3 1D Fa d IW-gi § FgWeH +d gL HPER

& ) 31 TE, 2009 W FH FEA-UF TW YRR 41 :

e F witdafaat .
A% I 1,05,000 | ¥ 90,000
B 1 sl 7@l 45,000 | AR 30,000
C =1 Jsft o 75,000 | & 82,500
& =1 () 13,500 | QTR 90,000
TR 39,000
AHTHRT 15,000

2,92,500 , 2,92,500

2 TR @ fEka w0 W Feda e | oReid 3 dR-dR

Tt & R ys oRE @ g @ R faam gen

2009
30 ¢

30 S[ETS
30 fadsr

30 EE

31 feger

T.
33,000
25,200
57,000
68,000

1,08,000

drEd

.
3,000
2,200
4,500
8,000

10,000

ﬁw#ﬂﬁamﬁmmwi‘@@wﬁm’ﬁmm
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